Tinozza in legno @ 2,2 m




No. | X Ky Detalil Pcs Dimension (X, y, ) mm
@ 1 1100 x 2200 x 38
@ 1 1100 x 2200 x 38
@ - 4 45X 1100 x 70
@ = 70-80 119 % 1000 x 38
4 > 2

@ — 8 145 x 943 x 45
@ - 8 93x 163 38
@ ’ 750 X 600 x 330
@ g 1 280 215
S 2 45 x 900 x 39
@ j E 1 980 x 1830 x 18
(94) — 1 %X 980 x 18
— 2 94 % 900 X 18
—_— 2 941830 x 18
3 6 200 x 240 x 95
@ — 3 95 x 825 x 38
@ — 3 95 x 748 x 38
@ — 2 95 % 914 x 38
— 2 95 x 863 x 38
@ — 2 145 x 750 x 45
o 2 68 x 620 X 38
@ = 1 145 x 500 x 45
= 2 145 x 410 x 45




No. Xﬁy Detalil Pcs Dimension (X, y, z ) mm
| A—1 1 —
S 14 5% 100
S 16 6% 80
— 4 5 30
— 79 4x70
_— 4 4% 50
— 5 4x35
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3 - Tinozza in legno @ 2,2 m




4 - Tinozza in legno @ 2,2 m
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5-Tinozzainlegno & 2,2 m
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6 - Tinozza inlegno @ 2,2 m
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